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HESES &R 5if. kA HEA RE% BiE T ﬂ%ﬁ)ﬁ
9892202 | ISR #EFHIEE 1235 BT E 4% A E 154 15= 1| AiE 1976 46.62
9892202 | ILSTHT = #FHIEE 1235 BT E % A E 154 25 % 1| AiE 1976 46.62
9892202 | ILSTHT = #FHIEE 1235 BT E % A E 158 3BE 1| AiE 1976 46.62
9892202 | ILSTHT = #FHIEE 1235 BT E 4% A E 164 15= 1| AiE 1976 46.62
9892202 WTHT S BT 4T3 1 23F 5 ETEEEE 1648 2BE 1 K& 1976 46.62
9892202 WTHT S BT 4T3 1 23F 5 BTEEEE 1648 35E 1 K& 1976 46.62
9892202 WTHT S B F 4T3 1235 BTEEEE 18%% 15% 1 K& 1977 46.62
9892202 WTHT S 4T3 123 %5 BTEEEE 18%% 2BE 1 K& 1977 46.62
9892202 WTHT S 4T3 123 %5 BTEEEE 18%% 35E 1 K& 1977 46.62
9892202 WTHT S 4T3 123 %5 BTEEEE 18%% 45E 1 K& 1977 46.62
9892202 WITHT S 4T3 1235 BTEEEE 211§ 15% 1 K& 1979 54.10
9892202 WTHT S 4T3 1235 BTEEEE 211§ 2BE 1 K& 1979 54.10
9892202 WTHT S 4T3 1235 ETEEEE 221F 15% 1 K& 1979 54.10
9892202 WTHT S 4T3 1235 ETEEEE 221F 2BE 1 K& 1979 54.10
9892202 WTHT S 4T3 1235 ETEEEE 231% 15% 1 K& 1979 54.10
9892202 WTHT S BT 4T3 1235 ETEEEE 231% 2BE 1 K& 1979 54.10
9892202 WITHT S BT 4T3 1235 ETEEEE 241% 15% 1 K& 1980 54.10
9892202 WITHT S BT 4T3 1235 ETEEEE 241% 2BE 1 K& 1980 54.10
9892202 WTHT S 413123 %5 BTEREEE 241% 38E 1 K& 1980 54.10
9892202 WTHT S 413123 %5 BTEREAEE 251f 15E 1 K& 1980 54.10
9892202 WTHT S 4T3 123 F 5 BTEREAEE 251f 28=E 1 K& 1980 54.10
9892202 WTHT S B F 4T3 123 F 5 BTEREAEE 251f 38E 1 K& 1980 54.10




